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ALLAMA IQBAL OPEN UNIVERSITY

Matric Semester: Spring 2019

Level:

Paper: Mathematics - 11 (248) Maximum Marks: 100
Time 03 Hours Pass Marks: 40)
Allowed:

Note: ATTEMPT FIVE QUESTIONS. ALL CARRY EQUAL MARKS.
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ALLAMA IQBAL OPEN UNIVERSITY

[vael: Matric Semesier: Autumn, 20121
i Course & Code | Mathematics-1l (Code: 248) Maximum Marks: 1(H}
s Time Allowed: __ | 03 Hours Pass Marks: 40
Note: ATTEMPT FIVE QUESTIONS. ALL CARRY EQUAL MARKS."
- 1 ——es
Q.Na, | Questions Marks
N 1%
Q.No.1 C a) Show that (z +1§) - (z -”z") =4, 10410
. \ b) RatlDl‘lallZCW. ‘
! P ITP(x) = 2% —kx? = 3x + 5 is divided by x - 1, find k, if the remainder is
{ Q.No.2 | 8. 10+10
% b} Factorize x* +x% -2
I"""a) The product of two polynomials and their HL.C.F are x* — 12x* +53x° —
Q.No.3 'l 102x + 72 and x — 3 respectively, Find L.C.M. 10+10
i b) For what value of x, x* +4x2 +x + % +;4; is & complete square, where
[ i # 0.
! I &) Solve:3++Zxr—1=0.
1
ONod| by Sobverfx+3) 2 10— 10410
; ' 17=1
Nos | %) Giventnata = ) - wesify that 47 — 44 + 51 = 0.
Q-No. ‘ by Sclve the simultaneous equations by the malrx inversion method where | 19+p
[ possible. Where therc is no solution, explain why this is so,
N S5x4 6y =25 3x+4y=17
! a) The sides of a quadrilateral are 2cm, 4cm, 6om and 7cm. The longest side of a
Q.No.6 | similar quadsilateral is 21cm. Find the other sides. 10410
i b) )f 40° is added to an angle, the resulting angle is equal 1o the supplement of the
ariginal angle. Find the original angle?
a) Construct a rectangle with sides 10cm and 6cm.
Q.No.7 b) If the legs of a right triangie are 2ab and a? ~ b2, prove that hypotenuse is { 10+10
a® + b
a) Show that the points A(5,4), B(4.—3), C(~2,5) are equidistant from D(1,1). | 10+10
{ Q.No.8 b} Solve by using factorization method: 4x(3x = 1) =2 = (2x = 1)(5x + 1).
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